1) a. Because of the huge downgrades in employee numbers and fast paced upgrades of technological advancement in the Canadian computer economy, employers are looking for job seekers with much more than just technical proficiency. 
b. The last few sentence of the first paragraph and the second sentence of the second paragraph outlines the main idea for the rest of the article. In those sentences the writer tells us that his opinion is that Canadian computer industry employers are considering technical know-how to be only one of the many facets of a good employee.

      2)  Unskilled workers face a bleak future in the economy.

3)  Advanced technology has caused huge amounts of lay offs even from middle and  

upper level management positions

4) Employees are required to know more about the company they work for, and must be able to work more efficiently, independently or in group settings.
5) Sylvia Lee thinks says that employers are looking for people who have a more broad set of skills because they can teach the specific skills needed in the job, but they can’t teach resourcefulness or creative thinking.

6) C)
7) Article can be found at http://www.bls.gov/oco/ocos042.htm
a. Employers are increasingly seeking employees with formal university degrees such as a bachelor degree or a graduate degree, although some still accept two year college degrees. Proficiency in a wider set of computer programs and suites is also demanded. Employers are also seeking employees who are able to implement new technologies, such as wireless networks and other wireless infrastructures which are fairly recent but are now popular within firms and organization. Also employers are looking for employees who are able to think logically and pay close attention to detail.

b. After reading both articles I believe that the article I found is much more informative because not only does it state some of the more general skills and attributes that a job seeker in the computer industry needs, but the more specific skills as well. For example, in “Doing what it takes” the writer states that attributes such as strong communication skills and independent thinking are important to employers, but in the article that I found, both of those skills are mentioned as well as more specific information like what types of post secondary degrees are necessary. The article that I found also includes more general attributes that employees must have, such as attention to detail and the ability to learn as technology changes.

8) a. The writer describes a specific example of a firm who is swamped by job seekers  and is giving out sheets with the minimum requirements that job applicants should have and then in the next sentence gives details about what some of those requirements are.

      b. 

c. One of the two contrasts is “To be both a specialist and a generalist is a tall order”. The other contrast is the part about skilled workers and unskilled workers.

d. Distinctions between blue collar and white collar workers are largely irrelevant. They are now separated into “Knowledge Workers” (skilled workers and unskilled workers).

e. Two examples of cause and effect are: the recession and layoffs which caused the need for more efficient and effective employees to pick up the slack and the layoffs in middle and upper management which caused companies to have far less managers and supervisors and caused the demand for more independent employees who would not need as much supervision.

9)  a.  A rhetorical question in the article is in Paragraph 4: Ten years ago the No. 1 question we asked was “How long will he stay with us?”

b.

c. An example of irony in the article is in paragraph 8. The study freaks who get all the A’s end up being less successful than the students from blue collar families working to put themselves through school while getting B’s and C’s.

